
400 Seat National Assembly in South Africa

1. A voter selects a single party

2. Based on votes, allocate 200 seats to provinces using Droop quota
with largest remainder

3. Allocate seats to parties within each province using Droop quota with
largest remainder

4. Assign remaining 200 seats to parties based on national proportional
representation
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4. Assign remaining 200 seats to parties

I Based on national tallies:
I Calculate Droop quota for 400 seats
I If more allocation needed, allocate 5 highest remainders
I If more allocation needed, assign based on average number of votes per

seat
I Determines total allocation to each party in the National Assembly

I Deduct seats won at regional level from national allocation
Pick members from parties’ national lists of candidates
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